

Supports the Strategic Plan

DATE: 06/08/2022

Highline Public Schools Board Action Report

FROM: Dr. Susan Enfield, Superintendent
LEAD STAFF: Teshon Christie, Chief Technology Officer For Introduction: 06/22/2022 For Action:06/22/2022
I.TITLE Aruba Licensing for Wi-Fi Access Points
II. WHY BOARD ACTION IS NECESSARY Per Board Policy 6225 purchases over \$250,000 require School Board approval.
III. BACKGROUND INFORMATION The implementation of the Aruba Licensing will allow for access to high speed wifi connections for all student facing sites in the district which is increasingly important for use of technology in the k12 education space. Using eRate funding, this project will replace a significant number of ageing Wireless Access Points. Technology Services is supplying an Introduction and requesting board Action on the same date due to eRate delays and inaccuracies in quoting for billable items. The current timeline for ordering, receiving and installation is contingent on a June approval.
IV. RECOMMENDED MOTION I move that the Highline School Board approve the purchase of the Aruba Licensing in the amount of \$766,684.38
V. FISCAL IMPACT/REVENUE SOURCE Fiscal impact to this action will be (amount and source including fund Example - \$522,000 from general fund Title 1 revenue). USAC- Universal Aervice Administrative Co. has committed to pay this balance from E-Rate funding in the amount of \$496,639.20 and Technology Services will pay the remaining balance of \$270,045.20 from Tech Levy funds. The revenue source for this motion is E-Rate Funds and Tech Levy Funds.
Expenditure: 🔀 One-time 🗌 Annual
VI. APPLICABLE POLICY(S) This action is in compliance with the following: Policy 6225 Approval of Contracts.
VII. ALTERNATIVES Should the school board determine that the Aruba Licensing is not an approved purchase, our Wi-Fi infrastructure will not have the capacity to support the further expansion of the 1:1 program for students in our district.
VIII. COMMUNITY ENGAGEMENT Community Engagement Required:
IX. POLICY MONITORING PLAN This new or revised policy will be monitored by the School Board: Quarterly Semi-Annually Annually Not Applicable
School Board Action Repor

The metrics that will be used to monitor this policy include:

X. ATTACHMENTS

List attachments - Micro K12 Quote Q30989-3



Quote

Number: Q31424-3

Grand Total

\$766,684.38

Date: 5/31/2022

Quoted To: Woodside - Dist Switches 18367 8TH AVE S C / O Fixed Asset / Tech SVC Office Seattle, WA 98148 **Bill To:**Highline School District 401
15675 Ambaum BLVD SW
Accounts Payable
Burien, WA 98166

#	Part Number	Contract ID	Product	Price	Quantity	Extended
1	R7J28A	05815- 014 HPE	HPE Aruba AP-635 Campus - wireless access point - ZigBee, Bluetooth 5.0, 802.11ax (Wi-Fi 6E) - ZigBee, Bluetooth, Wi-Fi 6 - 2.4 GHz, 5 GHz, 6 GHz	\$469.00	1282	\$601,258.00
2	Q9G71A	05815- 014 HPE	Hewlett Packard Enterprise Q9G71A wireless access point accessory WLAN access point mount	\$106.00	41	\$4,346.00
3	H5UF9E	05815- 014 HPE	Aruba, a Hewlett Packard Enterprise company H5UF9E warranty & support extension	\$3,814.00	1	\$3,814.00
4	1016-00		1016-00 18 in Hi Bar Plastic WiFi Access Point Lock Box with Opaque Door	\$159.00	43	\$6,837.00
5	R7J39A	05815- 014 HPE	HPE Aruba AP-655 Campus - wireless access point - 802.11ax (Wi-Fi 6E) - Wi-Fi 6	\$739.00	97	\$71,683.00
6	Q9G69A	05815- 014 HPE	Hewlett Packard Enterprise Q9G69A wireless access point accessory WLAN access point mount	\$84.00	98	\$8,232.00
7	5512		Freight for Lock Box	\$4.25	43	\$182.75
Subtotal						\$696,352.75
Shipping						\$0.00
Tax (10.10%)						\$70,331.63

Please send Purchase Orders to orders@microk12.com

Terms and Conditions

are subject to change. All quotes expire on the last day of the calendar month in which they were created. Click here to read our Terms and Conditions.

Prepared by: Paul Benesz · pbenesz@microk12.com MicroK12 3310 York RD Lynnwood WA 98087 United States · tel (800) 658-1000 · fax (866) 217-1034